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Wﬁﬁﬂ:

(i)
(ii)

(i11)

(iv)

(v)

(vi)

(vii)

Tyt go7 AT & |
J97 &I 1 - 5 T Jo9% J97 ek 3% & & | Y9 J97 & I 20 szl G
37fer 787 &1 T |
J97 G&IT 6 — 10 TF Ycd% 97 g1 371 &7 & | Ie9% 97 &7 40 Tl &
37fere 78T 81T FET |

J97 &7 11 — 16 T I 97 &R 37H] &7 & | Jod% 97 &7 IR 100 Jeg]
g 37 787 F7 =5 |

J97 G&IT 17 — 21 TF 9% J97 el 37h] #7 & | i 97 &7 IR 150 Jec!
g 37fere 757 517 =fzT |

Fo7 g1 21 HAEE W SGIRG Fo7 & | 39 I T FH-JIawr
ferfera |

Y97 G&IT 22 — 27 % Yo9F Yo T: bl H1 & | Y% J97 &7 IH 150 Fsc]
g 371 787 Fl7 TR |

General Instructions :

)
(ii)

(i11)

(iv)

(v)

(vi)

(vit)
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All questions are compulsory.

Questions number 1-5 are of one mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6 - 10 are of two marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11 - 16 are of four marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of five marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of six marks each. The answers to these
questions should not exceed 150 words each.
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1. 19779 S 91 6 WS % FREl Tk RO 1 g FHifw | 1
Analyse any one reason for the defeat of the Congress Party in 1977.

2.  ‘“qfyenft edyd @ w1 AR B 2 1

What is meant by ‘Western Alliance’ ?

3. a9y TR <hl STTURUN TS hITIT | 1

Explain the concept of a ‘Coalition Government’.

4. YA GIRRIRT 6l R A A 91T S AT Shi4-9T o 2 1

Which popular movement led to the empowerment of women ?

5. sficient ° A1 g9y o 9R ° fAefafigd § 9 w991 ©k e orE T § 2 1
(a)  #ficieRt § ToHiTd Go dR T faget ot shi gerem off |
(b)  dfHcl o f&al bl et il JTdt oft |

(¢) diud UeH & fASe 2rgd hl 9reh <90 1 HHAT UTeq o |

(d) eficiert | USHifaes gaMEdT T8t oft |

Which one of the following statements about the ethnic conflict in
Sri Lanka is false ?

(a)  Politics in Sri Lanka openly favoured the Sinhalas.

(b)  Interests of Tamils were neglected.

(c) Liberation Tigers of Tamil Elam were supported by the SAARC

countries.
(d)  There was no political equality in Sri Lanka.
6. ‘GEft Hugrl % Add AW I fhwl =R el stwar &l @l gEiEg
HIRT | §><4=2
List any four areas or regions which come under ‘Global Commons’.
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Te-fue SAgie g a0 Tad ¥l i 1T T Y@ ANEH i AThe HioT | 2

Assess the main contribution of the Non-Aligned Movement to the newly
independent countries.

HicH ‘A’ H TCT T Tt 1, W ‘B’ a2l § AU e Hif - éx4=2
HicTH A’ HicTH ‘B’

(a) oEl ToaNid ASHT % ASHIGR () SO HEh

(b)  SEH % Tk Jdl (i) I 3T HeA™ TG

(c)  &9aF UTel o =l (i) dt.#f. AEeHeE

(@ fegafcem wwa & wfdues (iv) g mEr

Match the facts given in Column ‘A’ with those in Column ‘B’ in a
meaningful way :

Column ‘A’ Column ‘B’
(a)  Architect of the Second (i) Balraj Madhok
Five Year Plan
(b) One of the leaders of (i1) Maulana Abul Kalam Azad
Jana Sangh
(¢) Leader of the Swatantra (1i1) P.C. Mahalanobis
Party
(d)  Proponent of (iv) Minoo Masani

Hindu-Muslim Unity

T faee fifd & w8 g @ vy S9mR KT S 9. SeEdd d8E §
Fcaferes Tl 9 | 1x2=2

Highlight any two aspects of the Indian Foreign Policy which were
greatly influenced by Pt. Jawaharlal Nehru.



10. T 3T hl HERIAl € I quisy b ovelehtol 4 WRd # 9Re™ T&h{d i
TuTfard fepam 2 | 2

Show with the help of one example that globalisation has affected the

dress culture of India.

11. UH S IR HRh IR HINC A TYh Tsg Glea giwg § 9ra i Tomrh
HEEdl < GTd <l 3frd & & | Ixd=4
Highlight any four factors which justify India’s claim to a permanent seat
in the U.N. Security Council.

12. ‘gRa sifd < foregl =R @i 1 Hoaehd i | Ixd=4

Evaluate any four benefits of the ‘Green Revolution’.

13. <ford g g 319e f&di sl seren e % fou st 18 fonedl = wifafafr o
U I | Ix4=4

Describe any four activities of the Dalit Panthers to promote their

interests.

14. 9Rd o fohgl TR TU™ AER1 1 Iooig shifoY qAT 3ok ShHST: TSeHT o A
fafge =g 1989 @ 1999 & &= T=iT TLhR 1 H=Taq foram | Ix4=4

Mention any four Prime Ministers of India and name their respective
coalitions that led the Union Government from 1989 to 1999.

15. <9 g0 33T U UH TRl IR whedi I wamem i e s 3uehi
TN 1 I B3 | Ix4=4

Explain any four steps taken by China that led to the rise of its economy.

16. YA 3 39H-3T19 I, THT HERIRGEAT < T & FAT AT T ? 4

Why did India distance herself from the two superpower camps ?
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17. = fqu T staae i eamyEs ufen ot frefefaa st & 3 difew

1977 % JA@EI Dl AT IIE H IMUTADIA o6 S TAHI-HUE I €9
e | 39 9l 9 FAE Y=R § S A % SAAhdiHe 9 3 ST
o QA st T farfde Samgfert WX SR fon | g o Sl g st SE Al
HERY 61 sy § FHd Hidg & faeg o |

(a) SHHd-gug’ <1 31 T hHifSu |

(b)  “IUTdRTA & TH, BT AN h TREAHT 991 39 H TR S8 w
SAAThAIEeh I |” AT 3 39 HAT H UgAd & 2 Tdh i o Y& 3Tl
foier  Uh-UH IUYH deh gL AU I h gfee Hifs |

(¢) 1977 % FAMEI[ I 9 §gAA ¥ S & FME9E, ST I had ATg

TrY o fou & a1 § =& @2 T HINT | 1+42+2=5
Read the passage given below carefully and answer the following
questions :

The Janata Party made the 1977 elections into a referendum on the
Emergency. Its election campaign was focused on the non-democratic
character of the Congress rule and on the various excesses that took
place during this period. In the backdrop of arrests of thousands of
persons and the censorship of the Press, the public opinion was against
the Congress.

(a)  What is meant by ‘referendum’ ?

(b)  “Acts like arrests of thousands of persons and the censorship of the
Press during the Emergency period were non-democratic.” Do you
agree with the statement ? Justify your answer with one suitable
argument for/against each act.

(c) In spite of winning the 1977 elections with a thumping majority,
why could the Janata Party remain in power only for a short
period ? Explain.

18. I fqu T Staaw i erHgEeh afet o fmfafad wwal o I €T
“Fa firTse Hehe A Yg K1 = fog ot | ¥fid g HIh TS SR
R Gifoma g9 aur 39 @eft e & ffw gfagfear, o o g9y 6
AGAT o €9 H IR @1 | Q9 § 37 aA@1 AR Fo6 5 it Thd g
%1 &Y T8l o |
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(a) ‘qUieATd} TRINTG g i 319 ¥as¢ T |
(b) ‘FgE foETsd "@he 1 AMA g & 9 Tog % ®T H F GHIT ST

o1 ?
(¢) “foemeamreas dod ot sfiq Jg 1 TH FRO A1 |7 AT 3T FHA F HEl
e HeHd 8 ? 1+2+2=5

Read the passage given below carefully and answer the following
questions :

The ‘Cuban Missile Crisis’ was a high point of what came to be
known as the Cold War. The Cold War referred to the competitions,
the tensions and a series of confrontations between the United States
of America and the Soviet Union, backed by their respective allies.
Fortunately, however, it never escalated into a ‘hot war’.

(a)  Explain the meaning of ‘hot war’.

(b)  Why was the ‘Cuban Missile Crisis’ considered as the high
point of the Cold War ?

(c) “Ideological conflict was also a cause of the Cold War.” How far do
you agree with the statement ?

19. = fou Tu H1ET w1 eamydes sterRn hifve ot frefefaa st % 3@ i
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(a)

(b)

(c)

I Hled Thd < © R aI-d 3 ?

Y < hl 3MfYes Afqa # ‘99’ ¥ ‘I d MW fehegl @ dfEdHl bt
AT I |

W W H gY AdMGE UiEddl % Tl @ GRomEl 1 STreRed

Hhifs |

1+2+2=5

Study the cartoon given below carefully and answer the following

questions :

(a)
(b)

(c)

THEN

MAO'S
LITTLE
RED BOOK

NOW

HU'S

CAPITALIST

RED

“POWER TIE"

(e

Which country does this cartoon refer to ?

Evaluate any two changes in the economic policies of this country

from ‘then’ to ‘now’.

Assess any two outcomes of the latest changes that took place in

this country.



Fig:  FECIRET 397 FaT gIRaTiaa qhgnteen & 178, 97 &1 19 & T W8 :

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 19 :

(19.1)  ASEAN (375 &1 foeqa ®9 w2 ?
(19.2)  STTEIH T T&F I FaTsy |
(19.3) ‘oMM et & = A= 7 ? 1+2+2=5

(19.1) What is the full form of ASEAN ?

(19.2) State the main objective of the ASEAN.
(19.3)  What does the ‘ASEAN Way’ mean ?

20. = fdu MU SO @ eaEYde dfeu 3R ffafad sl o W &

HIUH HT T 1885 H AT a1 | 30 ok I8 Ad (ferd, swmehr 3R

TR S 1 Teh gard aqg W oft oiferd ffeell 9t o 389 59 Tcied i

w9 o foram | 30 a9 W UG 7 Tk SHeATd TSHITae Irel Wl &Y o 3Tk

Tifreh Soaeen § SEehT gaeeT HIEH B3N | YE-IE § H § e, I

T, ot ALAH o R el ITTUSH T STt o1 | Afhd hUg 3 I o

G ITaFT 519 G AT, IHehT HHISTh IR a7 |

(a) o9 THE O R MR B 2

(b)  TAAAT YT BId-BId, HEH o Ueh HAW! HHIH T o &9 H
gftafdd g 1 SR Tose Hifsr |

(¢c) HIgdl Udl H HIUY Teh STATH TSIk oA hd &9 T8 ? 1+2+2=5

Read the passage given below carefully and answer the following
questions :

The Congress evolved from its origins in 1885 as a pressure
group for the newly educated, professionals and commercial classes
to a mass movement in the twentieth century. This laid the basis
for its eventual transformation into a mass political party and its

subsequent domination of the political system. Thus the Congress

59/3 9 P.T.O.
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began as a party dominated by the English speaking, upper caste,
upper middle class and wurban elite. But with every Civil

Disobedience Movement it launched, its social base widened.

(a)  What is meant by a pressure group ?

(b)  Explain the reason for the Congress to be transformed into
a rainbow-like social coalition by the time of Independence.

(c) What made the Congress into a mass political party in the
twentieth century ?

A o {¢U 7T ToHTTdeh {@I-AHE (I8 12 W) ° 9= T3 6l @), @), ©),
O @ ® g7 et R | A= @ T THEd % HER W I TSEl 6
g T 3R Iuft ITR-gfeaert A 39k A A, TN A g TSR
U &1 qAT TrEi-a A, = € 78 arferent o &9 # fofEu

TN <] TS FAHHR
1 HY-G&IT

Graf-ed A | TS kT M

(1)

(i1)

(iii)

(iv)

(v)

(i) 9% USA @ ArAtara 9T REER g3 o1 |

(i) 98 TST &l IS W % Aqd, SI TFHIAT JGIeH T 53T |

(i) 98 T S @ s’ | ArwIfad g |

(iv) o8 Us¥ 9@kt T34 o 2000 H g3 T |

(v) 98 US¥ S8l 1960 o <3k H 37k wdt fefa off | Ix5=5
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In the given political outline map of India (on page 12), five States have

been marked as @), @), ©), D) and (). Identify these States on the

basis of the information given below and write their correct names in

your answer-book along with the respective serial number of the

information used and the concerned alphabet as per the following

format :

Sr. No. of the
information used

Concerned
Alphabet

Name of the
State

1)

(i)

(iii)

(iv)

(v)

1) The State where the Jallianwalla Bagh massacre took place.

(ii) The State where a Dairy Cooperative Movement under the name

‘Amul’ was launched.

(i1i) The State which was benefitted by the ‘Green Revolution’.

(iv)  The State which was created in 2000.

(v)  The State which faced a near-famine situation during the 1960s.

11

P.T.O.
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21 & fouw

For question no. 21

U T {T-AHR (TS TR )
Outline Map of India (Political)
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Fie:  [AEliega 37 Faq glEEaa gl & g, 397 &9 21 F T W/
Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1)  Sfcraferen T REER 68 T | =fed g3t o ?
(21.2) ‘o U SH HEHN QI hI TRFY fohe =T | g3 o1 ?
(21.3) =¥ 2000 H (A B AT TSA I T fARIY |

(21.4) 9 % qd H fe¥a 38 Tsa 1 99 faRaw st 1947 # fovmeH < w7
Sean o S Afedca H A |

(21.5)  gNa sifd 9 gaifees dmrf~<d g9 a1 @ U9 -9 8 2 Ix5=5

(21.1) In which State did Jallianwalla Bagh massacre take place ?

(21.2) In which State was the ‘Amul’ Milk Dairy Cooperative
Movement started ?

(21.3) Name the State which was created in the year 2000.

(21.4) Name the State in the East of India which came into existence
due to bifurcation at the time of partition in 1947.

(21.5) Which two States were the most benefitted by the Green
Revolution ?

22. UYH TS YL UNug o U R 3R il deen & fau uMers & &9 d

AT B: IR 1 T&0 I | 1x6=6
arera
YT sl GReqr WG & fohegl dF o1 wreent o1 faeryor Hify | 2x3=6

Examine the six reforms proposed as criteria for new permanent and

non-permanent members of the U.N. Security Council.

OR

Analyse any three broad components of the security strategy of India.
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23. “ g N F5d § AWl o SIEN[E, WG o SR TSHIdeh Gl o =
Tsh TgATd SU T 9 U8 Wi B |17 38 HeH  Heyd H, sedl gentd & el

f aeat w1 ey i | .
HAYAT

“Sr- TR SEAaTd BHE R TSHITG 1 Tk Sfiad 38T & |7 feReal die

IUYh dehl g 39 HUA 1 e HIfoT | 9536

“In the midst of severe competition and many conflicts, a consensus
appears to have emerged among most political parties of India.” In the

light of this statement, analyse any three elements of growing consensus.

OR

“Jammu and Kashmir is one of the living examples of plural society and

politics.” Justify the statement with any three suitable arguments.

24. 3T % dfed WG I JHEM TgAM Al foheal dF @l 1 ey
T | 2x3=6

HAAT
Sveftertur Sk foregl 9 g1f=n o1 fargemor Shifse | 2x3=6
Analyse any three threats to the global environment these days.

OR

Analyse any three demerits of globalisation.

25. TIH TST AR g fopr T fopedl 9 eIt (81 HIaTEAT) w1 FuiA

Hifre & ormdien i 8= Wi i Ta=ar g T o s | 2x3=6
AT
WIT 3R qTfhed™ o o9 foheal o faaied qei sl 9uiF ik | 2x3=6

Describe any three operations (military actions) launched by the US

which proved and established its supremacy as a Hard Power.

OR

Describe any three points of conflict between India and Pakistan.
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26. ‘vis WA T A ANUR 3 ? WAk Nl & Tohegl Im qfomdi <hl =amen
ST | 2+4=6

3t
req fasrfaa et & faem & fow qa stausd™ anfdfes sgazem’ (NIEO) &
foam @l Tase HIfve | Sfvess =R yomel! § gUR g9 o T JAmses e
HiH 31 I8 Ug STUle gl 1972 B Jeatiaa fehegl i Gumi &l IR

I | 3+3=6
What is meant by ‘Shock Therapy’ ? Explain any four consequences of
Shock Therapy.

OR

Explain the idea of New International Economic Order (NIEO) for the
development of Least Developed Countries (LDCs). Highlight any three
reforms proposed by the United Nations Conference on Trade and
Development in 1972 to improve the global trading system.

27. 1975 H AUAHTA YA fohw S & fohedll i Ig@ ot w1 avfa T | 2x3=6
rerE

gfeu et g0 e gere’ HEHH W AR i % 0T I8 MW Tl =R
hedl sl 9ui9 I | 11 v4=6

2
Describe any three major reasons that led to the declaration of

Emergency in 1975.
OR

Describe any four steps taken by Indira Gandhi to implement the ‘Garibi
Hatao’ Programme.
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